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(2);
2.3
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2
2.1
y- = mier)
Y
(5)
2.2
=) Y
0,2)
y-2 =i(x-0)
1 Yy =ax 2
)
2.3
Y
2.2;(6)
2.4
()
2.5



1
I
Y y-y-piii(x-x*)
(0,2) y-2=i(x-0)
(0,1) y-I= -3(x-0) y = -3x+I
(0,7) y-7= 2(x-0)
(0,0) so=o" >0

2.5

y = JX+2

y = 2x+7

y = mx+c
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1
Y
1
(1,4)
(-1,-4) )
(4);
(2);
(1,4)
( 1!'4)
(4);
(4);
1
H(4);
1

134



(0.3)
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1 2
3.
3.1 3.1 ;
1 1
(%) .
1
1 (4); =
1
1,y1)
(2); y -y, = mxx1)
1 1
P1(x1,y1)
3.2 7(x9,y9
. / p(x9.y9) .
Y - ¥y zxpe xalXXy)
2 (4);
1
=M Y
Ll Y (0,¢) 'y = mxkc
3.2 (6)
3.3 - 34
3.3 1 34 -
1 .
3.5



3.4

3.5
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(-4.4)



10

2
|
X (a,0)
Ax+By+C = 0
B
X Y
90°/»
90%
X (a,0)
a0 A0
A B
Ax+By+C = 0
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11

1.2

1.3

2.1
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1.1 (-2,3) (L)

y-yi - *1- %2 <X-X1);(5)1

1.4

2.1



2.2

2.3

2.4

2.5

2.6

y-yi - 44 (x-xi)

ax +y=

2
Mtz a &0
b * 05(5); (2,0)
X
(0’ ) Y)
(5)
2.2
Ax+By+C = 0
A B C
A B *
(5)
2.3 y = -3x-2
-3X-2

Xty+2 = 0 A=3

B = C =2;(5)
2.4
xty+2 = 0
e
=1 2
+2 = 1;(5)
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1
1 2
2.7 2.5
y = -3 - 2 X
(4); y - 1
X | X
J XJ
(4); y y +-|-=
L (5) * 1
2.6
2.8 d = - h=, = 2,
3xty+2 = 0 (5);
y = -3 - 2;(5) X (0)
Yo (0.2)5(5)
ABHC =0 A B 2.7 1 |
C A B X
©) (-10) Y o(0))
2.9
3x+y+2 = 0 A B Mehz ]
C (4); : 5Ax+By+C -0 ;
2.10 m\l X, §y -1
wtyt2 = 0 X + 5y =7
-+ g : X +5 -7=0; (5
(4); 2.8
(2); Ax+By+C = 0

2.10.1 y = MX+C



1
X
(4)
1.10.2
1;(4)
1.10.3
1;(4)
2.11
b (4)
2.12
X
(4),
(2);
)
| X
(.0) Y
(0.1)
S 41=1
(4);

1" )
Yo - []50)
2.9 2x-3y-5 = 0

2.10



2.14

2.17 ' 2x-3y-5 = 0



3.1

3.2

3.3

1 (4);
(2)
1 1
X
(a,0) Y
0, )
1 (4)
(4]
()
VIOl » /M1 L MG
(4) ) X
Y (4);
(2)
,(6)
3.3.1

2
3.1
X (a,0)
Yo ~0)
+g9=-1
(%)
3.2 |
Ax+By+C = 0
A v
B'1—
(- -1.0)
(01' ') X
= 1'§|1<5)
3.3 (6)
3.4 - 3.5
1 33 -
3.4
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2x-8y =3

14

3.4

24-25

-16

3



1

(x1>y1)

1
Ax+By+C = 0

9070

90%

Ax+By+C = 0

| A By ™

Ax+By+C = 0

Ax+By+C = 0

(x*y 1)



11

I~ Y B(xl y
a |
Ay
% 5'é
BC C
d
(4); (4)
2x+3y-4 = 0
(4),

148

1.1

2
d =/ (x*x2)2+(y1-y2)2;

(%)
1.2 (44)  (-4,2)

2 ' 111
(6)

13
2x+3y-4 = 0

14 (-4,4)

2x+3y-4 = 0;(5);



2.1

1.2

2x+3y-4 = 0

(1.5)
2x+3y-4 = 0
(4);

(1.5)
2x+3y-4 = 0 ;
)

(2)

2.1

2.2

2.3

2.4

149

(x1 y].)
Ax+By+C = 0

. _.D ¥;
. Q
(xl,y])

71 " X
A3A5UNL71 L ABlduAsa

ABPEC =0 P
(*1,>1);(5)

(x"y1)
Ax+By+C = 0;(5)

L1 !



2x+3y-4 = 0 2x+3y-4=0

(-4,4) (1,5) | 26"
(2,0) (15) [2F
(-1,2) (1,5) /13
2.2
|
2x+3y-4 = 0
(1,5)

2x+3y-4 = 0:(4):

(1,5)
2x+3y-4 = 0
(4);
(2);
1 (2)

2.3

150

(- ><£> - -1
Bh-Ak = 0 1
: P1
-0 | L
; P1
L:(5);
P1
(X1t , yl+k)

X xl+h oy ylk
Ax+By+C = 0;(5);
A(x1+h)+B(yl+k)+c = 0
Ah+Bk = - (Ax1+By1+C)
2,(5)
2.6

(A2+B2)h2+(A2+B2)k2 =

(Ax1+By1+C)2

Wil (AXTBYAC)
A2+ b2

2.1

d=IPP'1 =yn2+ k2



(19)
2x+3y-4 =0
(4)
2.4
(X1y1)
Ax+By+C = 0
(4);

2.5 L

26 d
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2.1

2.8

2.9

2.10
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A(x-"+h) +B(y"+k)+c = 0
2.11

(4);

ABK = "(Ax-By™C)
2
212 |

B2h2-2ABhk+A2k2 = 0
3
2

A2h2+2ABNk+B2k2 =
(Ax"+By-"+C)2
4
2.13



L (4);

(A2+B2)h2+(A2+B2)k2 =
(Ax-By-C)2
2.14

h2+k2 ;

(4),

9 9 (Ax+By.C)2
h +k = e — s

d = IPP'I = [h2+ k2
d

3.1 d

3.1
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3.2

3.3

3.4

Ax+By+C = 0

d -

(6)

(4);

|AX.+ By.+ ¢ |
AFBT T

3x+3y = 13

3L;(6)

(XAiy'A)

|
(0,0)
15
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AxtBy+C = 0 (x-*y")

AX+EY 4l
LAy g
yA'+ B!

3.2 - 3.3

3.4
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1-3
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12 ()
1 Ax+By+C = 0
9. Y Ax+By+C = 0
3. ' Ax+Ey+C = 0 (x-Ly1)
4, 2 Ax+By+Cl = 0 AxtBy+C2= 0
. 90t
0. 90%
A$BY#CL = 0 AxeBy+C2 = 0
Ho. 0l 2
h% B
1
1.1 1.1
1
Y: Ax+By+C = 0
(4); = Y
1 (0! ")1(5)1
(4); Y

4x-3y+l =0
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1 2
(2) ,(6)
1.1.1 4x-3y+l = 0 1.2 ;
[ (5);
Yo (0] (7)
1.1.2 2x+3y-l = 0 1.3
[ -y e\
Y (0,1 (x"y1)
1.1.3 3x-4y+5 = 0 AxtBy+C = (
[ = _4 1Ax.+By. +cl
Y (01 [n2+ B2
1.2 1.4
(4,-3)
Ax+By+C = 0 (x*y") 12x-5y+7 = 0
(4), 1.3;(6)
1.5 ,
(3);
| AxMBy-MC | (7)
2 B2
2.
2.1 2 2.1 2
AdtBy+CA = ( 1 AdByCA = 0

Ax+By+C2 = 0 2 Ax+By+C2 = 0



2.2

nY

/ (0,-

Ax+By+C.= 0

1
L A

2.4

AxtBy+CN = 0
Ax+By+C2 = 0 ;(5)

EURED
Ax+By+Cl= 0
(4);

2.5

01 1

159

2.2

Ax+By+C-A = 0
Ax+By+C2 = 0;(5)
2.3

2.4

2.5
~ |AxMByl+cl

//¥4BT
C

(0" _)
Ax+By+C" = 0;(6);

d

_ ler c2'
/2,52
2.6
e
Ja +B2



2.6

2.1

3.1

Ax+By+CM = (
Ax+By+C2 = 0
(4);

2.1

2.8

ox+y-6 =0
ox+y-3 = 0
2.6,(6)
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Ax+By+CM = 0
Ax+By+C2 = 0; (5)



3.2

3.3

3.4

IC1-C2!

1
o

2x+3y-I

1
o

4x+6y-4
1.5
2-6 31-32;(6)

3.2 - 3.3

3.4

161
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2.3

31

3.2
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14)

11)

(2!2'p)

(2.7)

('4!5)

12)

1)

('113)

(23)  (14)

- (3,2)

(3.9)
(1.2)

. (-1,-5),(6,-7)

(3,-4)
(1.4
C(-2.2)

A(3,3)

(3.,4)
1('116)

1(2!'1)

('11'2)
(4.6)
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17,



o)

X Y
2.1 20)
(21'3)
I
? (4,1)
2X+3y+5 =0
il 21)
5Xx-y-15 =10
oxty-9 =10
x-6y-20 =0
x+oy+16 =0
('51'2)
3x-2y+l =0
3x-2y+1l = 0
2x+3y+16 = 0
22)
2x-3y-5 =0
2x+3y-16 = 0
2x-3y-4 =0

18-22

x+2y-4 = 0
y =Y X3
Xy =17
y=-Y X9
2y = X+5
2%-y+9 = 0
?

3xty-6 = 0

2x-3y-6 =0
2x+3y-4 = 0
3x+2y+6 = 0
3x-2y+4 = 0
%x-Zy-G =0

y = ox+l

Ox+3y = 2
x = 12-2y
4x-2y =15
3x+6 = dy

170

2x-y-4 =0

y = 240
X+2y =5
y = 12-2x
2 = -4y
12x = 5y+



Ix-y+8 = 0
I

X+7y-36 = 0
x+7y-31 = 0
X-7y+'39 = 0
X-Ty+42 =0
Ix+y+23 = 0

2.2

24) 10x+ky+8 = 0

-

20

. -10
. =20

23-21

25)

%)

27)

1

2x+y-3 = 0

dy = 2%-5
(a2-4)x + (a|+2)y-1 =0
ah -2
-1
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28) i) X (-2,0) 2.3
Y (0,-4)
) X (2,0) |
: v 31 3x+Hy = 5
Xty =
02) ) !
dx+ky =3 k
(0,1)
(0. 9
3
(0,-7) 2
. (0,-1) 3
29) Ix+3y-12 = ( X i
A Y B
ACB ' 3. |
32) L (-1,0)
i ! (0,-5) )
N y |
(3,0) y = mx+C
fl.
2 C
o] cll 12 .
s 5
30) X-2y+4 = 0 Y %
A X-y-5 =0 g
Y B B :
7 5
5
4
3
2

28, 31-32 . 29-30



33)

33

3x-2y+6 = 0 3x+2y+6 = 0

x-3y-2 =0
x+3y-2 = 0
x+3y+2 = 0
X-3y+2 = 0
x-y+2 = 0

3xty-3 =0
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3.1

i) L
ox+8y+12 = 0
(-2,-5)
2.6

k

5.2

6.4

40

35) (4,-3)
X-ytl =0

z1y

34-35

36)

37)

36-37
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bx = 12y+26
(3,-5)
(-4.1)
(9.0)
(0,0)
(-2,-1)
(-2,3)
20x-21y-42 = 0
2
3
4
5
6



39) 5x-12y-13 = 0

1y = 5x+26

I3 2 T ~SEEY TR NG SN

39) y = 2x-5

4x-2y-71=0

3T

3/5"

40)
4x-3ytk = 0
5
-40,
10,
-10,
10,
10,

38-39
43

k
-10
-40

40
40

-10

4x-3y-15 = 0

)

41)

)
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X=- X =38

Xty =5 xty = 10

2ty =1 y = -2x+3

4y-3x = -2

3x-oy+3 = 0 5y-3x+10='
3-3

8x-6y+13 = 0

B = by+22

£3)

y= -

«

40-42

35

29

1
3-5
0.9

4x-3y+5 = 0
X-1

1 1:1,
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38
34
36
37
33
3
38
38
36
36
37
3
38
36
34
3
37
38
33
37
26
33

R1

26
13
23
26
17
21
25
25
28
22
21
14
20
19
18
12
17

16
12

17

0.84
0.62
0.78
0.83
0.66
0.81
0.83
0.83
0.84
0.76
0.84
0.64
0.76
0.72
0.68
0.62
0.71
0.62
0.64
0.64
0.45
0.66

0.32
0.55
0.34
0.30
0.42
0.47
0.34
0.34
0.21
0.37
0.26
0.55
0.47
0.45
0.42
0.61
0.53
0.76
0.45
0.66
0.47
0.42

23
24
25
26
21
28
29
30
3l
32
33
34
3
36
37
38

39
40
41
42

43

32
32
36
32
36
37
38
38
32
37
36
32
32
30
38
34
3

25
24

26
25

10

16
10
20
20
2
15
23
12
16
24
2
19
23
19
2
17
12

15
12

0.55
0.53
0.68
0.55
0.74
0.75
0.78
0.70
0.72
0.64
0.68
0.74
0.70
0.64
0.80
0.70
0.74
0.55
0.47
0.54
0.49

0.58
0.63
0.53
0.58
0.42
0.45
0.45

0.61

0.24
0.66
0.53
0.21
0.29
0.29
0.39
0.39
0.37
0.21

0.32

0.29
0.34
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10
11
12
13
14
15
16
17
18
19
20
21

22

43

.86
.57
77
.82
.65
.81
.83
.84
.86
.75
.86
.73
.76
.72
.69
.60
.71
.63
.65
.65
.45
.63

.14
.43
.23
.18
.35
.19
.17
.16
.14
.25
.14
.27
.24
.28
.31
.40
.29
.37
.35
.35
.55
.37

pa

.1204
.2451
A771
.1476
.2275

.1539
0.1411

.1344
.1204
.1875
.1204
1971
.1824
.2016
.2139
.2400
.2059
.2331
2275
.2275
.2475

.2331

23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
4
42

*»3

.57
.55
.70
.53
.73
77
.80
.71
.71
.65
.82
.76
71
.67
.82
72
.76
.54
.45
.49
.45

.43
.45
.30
47
27
.23
.20
.29
.29
.35
.18
.24
.29
.33
.18
.28
.24
.46
.55
.51

.55

o O o o

pg

.2451
L2475
.2100
.2491
L1971
1771
.1600
.2059
.2059
.2275
.1476

.1824

0.2059

.2211
.1476
.2016
.1824
.2484
.2475
.2499
.2475
.5921
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43
-
ﬂuﬁ ATUUY ﬂu# ALY ﬂud ALY ﬂuﬁ AT
il i it it
1 43 22 38 43 29 64 22
2 43 23 38 4l 29 65 22
3 43 24 37 45 29 66 21
4 43 25 37 46 26 67 21
5 43 26 37 47 26 68 20
6 43 27 37 48 26 69 19
7 43 28 37 49 26 70 19
8 L2 29 36 50 25 71 19
9 42 30 36 51 25 72 18
10 L2 31 36 52 25 73 18
11 41 32 36 53 25 74 18
12 41 33 36 54 24 75 18
13 41 34 35 55 24 76 17
14 4o 35 35 56 24 74 17
15 40 36 34 57 24 78 15
16 40 37 34 58 24 79 14
17 39 38 34 59 24 80 12
18 39 39 32 60 24 81 12
19 39 40 31 61 23 82 8
20 39 b1 29 62 23 83 5
21 39 L2 29 63 23




"KR-20

= 85921

= 2462
= 80832
83

an2(- _()ZX)Z

83(80832) - (2462
(83(83)-1)( )

= 051531

39.1172
= &
= 0.9314
0.9314
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[o)]

10

10

46
122

98
32

119
52

195

666

49
132

123
3

118
30
185

674

po =

0.3003

6.9069

18,3183
14,7147
4.8048

17-8679
1-8078

29.2793

100 - 11.1041

0.2967
7.2700

19-5846
18.2492
5-1929

17-5074
4.4510
27-4481

= 88.8959

15
0.87

0.0036
0.3631
1.2663
3-5345

0.3881

0.3603
3-3568
1.8312

11.1041
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49
132

123
35

118
30
185

674

2
41
134
116
37

130

3
198

693

PQ
Pe

1

0.2967
7.2700

19.5846
18.2492

5.1929

17,5074

4.4510
27.4481

100 - 6.2419

0.2886

5.9163
19.3362
16.7388

5.3391

18.7590

5.0505
28.5714

93.7581
15

0.93

0.0081

1.3537
0.2484

1.5104
0.1462

1.2516

0.5995
1.1240

6.2419
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H
(e

65
104
174

52

92

129

626

PO
Pg

5
67
109
182
50

9

138

652

= 100 -

[/D Ratio

0.7987
10.3834
16.6134
27.7955

8.3067

14.6965
0.7987
20.6070

2.2315

0.7669
10.2761
16.7178
27,9141

1.6687

15.0307
0.4601
21.1656

97.7685
18
0.97
0.78

0.0318
0.1073
0.1044
0.1186
0.6380

0.3342
0.3386
0.5586

2.2315
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13

10

39
136

93

41

103

151

511

6
46
137
9
29

104

143

566

17331
6.7591
23.5702
16.1179
1.1057
0.3466
17.8059
0.3466
26.1698

PO = 100 - 7.7994

Pg

I/D Ratio

1.0601
8.1272
24.2049
17.4912
5.1237
0.1767
18.3746

0.1767
25.2650

= 92.2006

18
0.90

141

0.6730
1.3681
0.6347
1.3733
1.9820
0.1699
0.5237

0.1699
0.9048

1.7994
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2
6 1.2868
24 4.0441
112 21,5074
9 14.7059
30 5.1471
121 Eed2dd
1 0.3676
183 31.6176
556
PQ = 100 - 3.5124
Pg
f

/D Ratio

1.0791
4.3165
20.1439
14.2086

5.3957

21.7626
0.1799
32.9137

= 96.4876

18
0.95
133

0.2077
0.2724
1.3635
0.4973
0.2486

0.4391
0.1877

0.2961

3.5124
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3 0.4792
16 2.5559
308 49,2013
82 13.0990
3 04792
6 0.9585
1 0.1597
207 33.0671
626
PQ = 100 - 1.5991
Pg
I/D Ratio

0.4688
2.5000
4 6875
13.4375
0.4688
0.9375
0.1563
32.3438

= 98.4009

30

0.98
0.04

0.0104

0.0059
0.4862

0.3385
0.0104
0.0210
0.0034

0.7233

15991

188



© ©o —N oo ol B~ W N R

10

16

226
39

99

382
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45

89
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1.0471
1.5707
59.1623
10.2094

1.8325
0.2618
25.9162

Pg + 100 - 6.6563

Pg

I/D Ratio

0.5305
1.5915
60.7427
11.9363

1.5915

23.6074

= 03.3437
35
0.89

0.03

0.5166
0.0208
1.5804
1.7269

0.2410
0.2618
2.3088

6.6563
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304
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PQ 100 -
Pe
r

I/D Ratio

« M

2.1429
60.1786
4.8214

0.3571

32.5000

= S
1.7375
58.6873

1.3359

0.1931
0.1931
31.6602

5.8012 = 94.1988

48
0.91
0.03

0.1931
0.4054

1.4913
2.5145

0.1640

0.1931
0.8398

5.8012
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(X)
2*1 £ X
8 92
42 44
2.095 2.091
m
1 2.095 2 2.091
()
' 1IEXM-CZX-) 2 X-(Zx2)2
1( 1) - 2( 21
42(258)-(88)2 44(276)-(92)2
Z{2(42)1() ) 4(4(4 1() )
[ 3092 [ 3680
[ 1722 = V 1892
1.796 = 71.945
1.3401 = 1.3946
2 2

1.3946
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0: <M = M
F 05(43,41) = 1.69
F 1

o 011

Ho oA =A
t.05 = " -*0p

t v ox
/ (A 2'1) 2 )

2.095 - 2.091
42-1)(1.796)+ (44-1)(1.945). 1 + 1.
( I 42+4u-2( ) ) +2 + 4N

0.004
0.295

= 0.014

1.96 (0)
| 011
0.05
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Xl
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33
29
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26
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32
35
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38
34
13
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36
33
34
3
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39
30

1444

1089
841
961
676

441

729

1024
1225

441
1444
1156
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1521
1296
1089
1156
1369
1156
1521
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1 (X1)

2 (x2)

X2

36
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27
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29
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38
41
28
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361
729
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1444
1681
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961
961
1521
1444
961
1156
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841
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900
625
484
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729
576
61
900
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1444
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36956

X2

38
20

30

31

26
18
23
33
25

19
37
22

29
13
18
23
24
18
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1083

1444
400

900

961

676
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529
1089

625
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1369
484
841
169
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576
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£*1
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~38_

30.3158

30.3158
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" ZxN-CSx”2

/\( /\_!)

38(36956

38(38)-1()1152)‘

7.4111

1 7 4111
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1083
= ~4 ~

27.0750

2 27.0750

2 2)2
2( 2*1)

40(3

O
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7.8361

2 1.8361
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t b = 1.666 1 df = 76

- y

Kr*-Dsl+( 2-1) 2 +- )
L2t "2

30.3158 - 27.0750

38-1)(7.4111)2+(40-1)(7.8361)2f 1 1
(38-1)(7.4111)2¢ B

38+40-2

3.2408
J2.9891
3.2408
1.7289

= 1.8745

1.666
1
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